Parts Breakdown

202F - THREAD SETTER KIT




Item: 202F
Description: THREAD SETTER KIT

Notes: KIT CONTAINS SIZES 8-32, 10-24, 10-32 & 1/4-20. All other sizes are optional and must be ordered
separately. Size 1/4-20 & above requires no nosepeice

JH47120 KLIK STEEL RIVET-NUT 8-32(50P
0 JH47415 POLY NUT 6-32/PK OF 50 1 X
0 JH47210 6-32 ALUMINUM RIVET NUTS 1 X
0 JH47110 6-32 RIVET NUTS BX/50 1 X
0 JH39277 METRIC CONVERSION KIT 1 X
0 JH47485 3/8-16 KLIK POLY-NUT 1 X
0 JH47281 BOX OF 25 3/8-16 RIV-NUTS 1 X
0 JH47181 3/8-16.030-.125 RVNT BOX20 1 X
0 JH47475 5/16-18 POLY NUTS 25 1 X
0 JH47271 5/16-18 RIVNUTS BX/25 1 X
0 JH47171 RIVET 5/16-18 KLIK NUT 25PER 1 X
0 JH47455 1/4-20 KLIK POLY-NUTS BOX OF 1 X
0 JH47250 1/4-20 RIV-NUTS BX/40 1 X
0 JH47150 1/4-20 RIVET NUTS 40/BX 1 X
0 JH47445 10-32 KLIK POLY-NUTS(50) 1 X
0 JH47240 ALUMINUM RIVETS 10-32 50PK 1 X
0 JH47140 10-32 STEEL RIVET NUTS/50BX 1 X
0 JH47435 10-24 KLIK POLY-NUTS BOX OF 1 X
0 JH47230 KLIK ALUMINUM RIVET NUTS 1 X
0 JH47130 10-24 STEEL RIVET NUTS/50BX 1 X
0 JH47425 20 PACK 8-32 KLIK POLY-NUTS 1 X
0 JH39200 THREAD SETTER 1 B
0 JH47220 8-32 ALUM.RIVNUTS 50/BOX 1 X
1 JH39250 SETTER BODY 1 X
2 200F-HP21A HANDLE 1 T
3 JH39264 COLLET CASE RH 1 X
4 200F-FP1 FULCRUM PIN ASSEMBLY 1 T
5 JH39265 ADJ.KNOB W/SCREW 1 X
6 JH39353 LOCK SCREW 1 X
7 JH39254 MANDREL 6-32 1 X
8 JH39255 MANDREL 8-32 1 X
9 JH39256 MANDREL 10-24 1 X



11
11
13
13
13
13
21
22
23
24
25
26
27
28
29

100

JH39257
JH39271
JH39258
JH39260
JH39259
JH39272
JH39260
JH39261
JH39262
JH39263
200F-HP45
200F-HP46
200F-HP47
200F-HP48
200F-HP31A
200F-HP32
JH39300

MANDREL 10-32

ASSY. 1/4-28

MANDREL 1/4-20
MANDREL 3/8-16
MANDREL 5/16-18
5/16-24 MANDREL
MANDREL 3/8-16

NOSE PIECE 6-32

NOSE PIECE 8-32

NOSE PIECE 10-24/32
BODY GRIP

HANDLE GRIP

LOCKING CHAIN
NOSEPIECE WRENCH
TORSION SPRING
TORSION SPR RETAIN PIN
NUT SETTER TOOL F/ 203F & 202F

@@ 4 4 4 4 4 4 X X X X X X X X X X



